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[BAE] g3te) 23S FEF.
M: Good afternoon, students! This is your vice

principal, Jack Eliot. Due to the heavy rain last
night, there’s some damage on the road and
the road condition is not good. So we decided
to make some rearrangements to the school
shuttle bus schedule. From tomorrow, keep in
mind that the bus schedule will be delayed by
15 minutes. We want to make sure all of you
This change will
continue for one week. We appreciate your
understanding and cooperation. Thank you for
your attention!

are safe. bus schedule

W: Hello,
Smith. You might be worried about your new
school life as a freshman. You have a lot of

this is your student counselor, Susan

things to do in the beginning of the year.
Today, I'm going to give you a tip about time
management. Make a to-do list!
the tasks you have to do on a list and check
off what you finish, one by one. By doing this,
you won't miss the things you need to do.
Using a to-do list will help you manage your
time efficiently. Good luck to you and don’t
forget to start today.
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M:

© Right.

Brian, I heard that you are thinking of buying
an electric bicycle.

M: Yes, that’s right.
W:
M: Yeah,

That’s good. But be careful when you ride it.

I know what you mean. On my way
here I saw a man riding an electric bicycle
without wearing a helmet.

© Some riders don’t even follow basic traffic

rules.
What do you mean by that?

. These days many people ride electric bicycles

on sidewalks.

Yes, it’s so dangerous.

There should be stricter rules about
riding electric bicycles.

I totally agree with you.

M: Hi, Amy. [ heard that
English Newspaper Club.

W: Yes, Tom. I went to the club room yesterday
and took a picture of it. Look.

M: Wow, the place looks nice. I like the lockers
on the left.

W: Yes, they're good. We also have a star-shaped
mirror on the wall.

M: It looks cool. What's that on the bookshelf?

W: Oh, that’s the trophy my club won for ‘Club of
the Year'.

M: You must be very proud of it. There’s also a
computer on the right side of the room.

W: Yeah, we use the computer when we need it.

M: Great. I can see a newspaper on the table.

W: Yes, it was published last December.
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